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Instructions to candidates:

1) Answer Q.1 OR Q.2, Q.3 OR Q.4

2) Figures to the right indicate full marks.
3) Use of scientific calculator is allowed
4) Use suitable data where ever required

Q.1) What are the advantages of virtualizing a hardware resources?

Why can't you change the control registers in user mode ?
OR

[6]
[4]

Q.2) A window system manages three hardware resources:the display , the mouse and the
keyboard. Discuss a window system as an operating system. what are the virtual resources?
What things are multiplexed and how(space or time or both)? Are the resources transformed

for easier use?

[10]

Q.3) Relate the terms race condition, atomic action, critical section and mutual

‘exclusion.

OR

[10]

Q.4) Suppose we wanted to change the message size used in the simple operating
system from 8 words to 1024 words. What changes in the code would be required?

- What would be the effect of this change on users of operating system?

[10]
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